ECON/SØK 4415 International trade

Lecture 9: Foreign direct investments

· Stylised facts on FDI

· A model of FDI in a ‘neo-classical’ world with comparative advantages

· A model of FDI in a world with scale economies (next lecture)

Stylised facts about FDI

One should differ between capital movements and foreign direct investments. Capital movements denote cross-border flows of capital that can take many forms. FDI denote a specific form of cross-border capital flows, namely as large, long-term investments by multinational firms. 

A) FDI has increased in the world economy

B) FDI has increased more than international trade

C) FDI is more intense between developed countries than between developed and less developed countries or between less developed countries. 

Questions about FDI

A) Are trade and FDI substitutes or complements?

· Tariff jumping investments

· Trade related investments

B) Does FDI contribute to development or not?

· Technology transfer

· Capital transfer

A model of FDI in a neo-classical world (Mundell, 1957)

Assume a two-country (A and B), two-goods (cotton and steel), two-factor (labour and capital) world. In such a world, with free international trade there will be both factor-price equalisation and good-price equalisation if:

· Production functions are homogenous of the first degree (marginal productivities depend only on the proportions in which factors are used)

· Production functions are identical in both countries

· One good requires a greater proportion of one factor than the other good at any factor price at all points on the production functions.

· Factor endowments are such as to exclude specialisation.

Now assume A is well endowed with labour and poorly endowed with capital relative to B. Cotton is labour intensive relative to steel. 

Assume A is small relative to B. Therefore, A has no effect on prices in B.

Assume a world in which there is free trade but no factor mobility. Equilibrium is illustrated in figure 1.

Figure 1
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The line T represents country A’s transformation curve. There are drawn two social indifference curves in the figure. In the absence of trade, country A will produce and consume 0Q of steel and 0Q of cotton. When integrated into the world economy where prices are given by the line Y, A will reduce its production of steel and increase its production of cotton to the point P. Its national income will be given by the line Y and its consumption of steel and cotton will be at the point S (which is on a higher indifference curve). A exports cotton and imports steel. It exports PR cotton and imports SR steel. 

Now assume that capital mobility is allowed for. From an initial situation with free trade, nothing will change. This is because free trade has resulted in price equalisation of factors and good. Marginal productivity of capital will therefore be identical in the two countries. 

If country A imposes a prohibitive tariff on steel, country A has to produce its steel itself. Prices of steel increase and price of cotton decrease. Production and consumption moves back to the autarky levels, Q. Factors move out of the cotton industry and into the steel industry. Since cotton is labour intensive and steel is capital intensive, the marginal product of labour must fall and the marginal product of capital increases. 

Since capital is mobile, the rise in marginal productivity of capital in A induces capital movement. Capital moves into country A until the marginal productivity of capital becomes equal to that in country B. Then also marginal productivity of labour is equal in both countries and good prices are again equal. Figure 2 illustrates the mechanisms.

Figure 2
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The vertical axis represents the labour force in A. The horizontal axis represents the capital stock. Labour and capital are combined in production of steel (measured from 0) and cotton (measured from 0’). 00’ is the efficiency locus of A. The efficiency locus lies below the diagonal (not drawn) because steel is the capital intensive industry. Equilibrium in the free trade situation is in P (corresponding to P in figure 1). Factor proportions in steel and cotton are given by the slopes of 0P and 0’P, respectively. 

After the tariff is imposed, production moves to the autarky point Q. The slopes of 0Q and 0’Q (drawn by dotted lines) indicate that the ratios of labour to capital in both cotton and steel has risen. That is, the marginal product of capital has risen and the marginal product of labour has fallen. 

With perfect mobility of capital the marginal products of capital and labour must be equalised in A and B. Marginal products in B does not change (A is a small country). Therefore, capital movements will continue until factor proportions in both industries are the same as before. The new equilibrium will lie along the extended OP-line at the point where it is cut by a line 0’’P’ parallel to 0’P, where 0’’ is the new cotton origin.

So, where along the line OP will the new equilibrium be? Marginal productivities in the new equilibrium are the same as before the tariff was imposed. Therefore, goods prices are also the same. It follows that real incomes are the same as before the tariff was imposed. Therefore, consumption is the same as before, at S in figure 1 and figure 3 below. 

Production is larger than S, however, because interest payments are paid to country B equal in value to the marginal product of the capital inflow. 

Figure 3
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By increasing capital stocks, A’s production capacity increases, but most for the capital intensive good, steel. This is seen from the new transformation curve, T’ in figure 3. It increases the capacity for steel production the most. New equilibrium will be somewhere where the international price ratios (the slope of Y) is tangent to the transformation curve. All such tangents make up a negatively sloped line, the R-line in the figure.  

The new equilibrium will be at point P’, directly above S in the figure. At this point the new GDP level will equal Y’. However, disposable income is lower, due to transfers of rent to country B. At any point along the R-line to the northwest of P’ country A would have to import steel in order to consume at S. Only at P’ are demand conditions satisfied and the interest payment can be made abroad at the same price ratio as before the tariff was levied. Also points to the southeast of P’ would be consistent with equilibrium. 

What would now happen if we removed the tariff? The tariff has induced capital movements from B to A. The results were that marginal products of labour and capital and good prices equalised. Therefore; removing the tariff would not induce reversing of capital flows. The tariff eliminated trade, but after the capital movement there is no longer any need for trade. 

Now, is the above an argument for protection?

A tariff on a capital intensive good in a labour abundant country induces capital flows into that country. The results were that trade decreased (in fact vanished) and the production capacity of the country increased. Consumption however, remained the same. Therefore, the mechanisms described here, under the assumptions made, do not constitute an argument for protection. 

Now assume that there are external economies of scale in the products that A imports. In this case, the marginal product of capital would not fall as rapidly as in the absence of economies of scale. Therefore, the tariff would encourage more capital to enter than otherwise. In the new equilibrium, marginal productivity of labour would be higher and factor incomes both of capital and of labour would be dependent not only on the proportions in which factors are combined, but also the total output.  
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